RERBRRE

BSSH

& AETE

037 M (TERID)

M L&ME (RIFEERNEL @ 360°)
B AT

DR

RRAIESEH

PRIFRE SRR

1B IR AR
REBEXNRFEBER
BEREXREEBLER
REESHEANRERK

MTTFd / MTBF

e E

T A BRI (typ.) RIFEER
T A BRIAFE (yp.) BEER
B /N BB PR A B
BMERRBEAH

BR 3T 18 il ==

B R R R

Hh[e) BB E

BRLSEERE

REBSEE

BIRESGEEBE

TR

HEBESEETR
BREGHEE TR
BREBSEETR
BREAKEEE TR

MBS

HAE AT E

Bhir & &

R/NF

TR 7R (L)
TEMfIFRE (T E L)

IEC 68-2-6 #&zH (Amax = 0.75mm, f=5
IEC 68-2-27 i

HERHE

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230...1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)
EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

.. 2000 Hz)

TEL:400-900-8812 &BT:

% of meas. range
% of meas. range

bit

kHz
kHz
us

us
ppm/°K
years
VDC
mA
mA
kOhm
nF
kHz

mm?2

mm?2

mm?2

movements
°C

°C

9

9

dB(uV/m)
dB(uV/m)
kV

V/m

kV

kV

Vemk
A/m
GOhm
kV

17316386953 www.iix88.com

MH-C

0...360
0.3
+0.5
0.1
12
0.1
®)
1.66
(800)
4600
25
668 / 668
5 (+10%)
(14)
9
10
0
0.1-1
yes
Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
yes
Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
P68

no limitation

-40 ... +125

-40 ... +85

50

200

max. 30
max. 37
4/ 18

MH-C2

T
ri

Vert-X 37E - 5V / PMW

B1A

Rl AL
BRNM
ARl AL
BHRARER

4 = general

S SR P68
FEEARFIT
IEm=NE S %
REMHFR

ERENE

ER AT E R A

(RE, BR, A RHE)
EREESAETENE S
RHNBHE

R MH-C
YR 12bit
EEMH-C2 EEE

R MH-C2
5 PR 4bit

REIR, BEFF AN A E TR
E/MYmTE (AJik)

CONIELEC

A company of the Siedle-Group

luck@iix88.com



s
S
|c

BSE S

5 ¥Rt &4 3pole

7 A% 44 5pole / 6pole
9 Ik PR EBLAS Tk L4

BSERE RE
4 1R B B4 3pole

Vert X 37E 5V PWM
1T

bk s 6 A%k B 846 6pole
IEM %8 E CWHR A1 9 Wik KB AR K4
IE [ % B CCWH] 12
TR, EMBE CWH%3 B K
JUR, E A% E CCWH %4 01 % 10cm
TR, XXESHMETIES 03 i 30cm
05 #5 50cm
HHES 99 Wik HHKE
PWM Standard 4
BYHKE
02 #5/ 1.0m
06 A% 3.0m
GRS 10 W3k 5.0m
5VDC Standard 2 00 Wik BHKE
VertX 3 7 E 4 7 3 6 2 4 0 5
HREA
36IR A B A360°
xxA %03 to 35; Declaration in 10° steps
9T E R HREBSEA
7 MH-C
AR A
37E1 Wik A IR L% size 13 ; Bt 1T 4l Mtype 1
37E2 Wik AR R Esize 13 ; BT HAGtype 2
37E4 FR AR R Esize 13 ; WtEHITHLI type 4
37E9 Wik BT BHRBERTIG
MH C MH C2
1T I B M0 AT WL A X
T #I9h= X
T HI B 48/ S48 X
#0x% ... y% Ub (within 5% ... 95% Ub) X
PR AE SRR R X
FFRINEETTL (max. 2)
PR A & X
HEHREBSEA SEES0° to 360° (BHWI)
HREATRE (B4

BHEAMAJARE (FNLR)
BE¥ A BMCW/CCW AR E / Al 4wfe (ML SRR 1)
REIRARE AR (BN L E R

TEL:400-900-8812 2BTL: 17316386953 www.jjx88.com

wiE (REESER)

CONIELEC

A company of the Siedle-Group

luck@jjx88.com



Finbaumass ~ Ltdz
working position 16
M5 S ini
= 21 3
\ —H3 16
o T | —
LO [ | o0}
g e
B € AT
e T ¥~
™ HUNIN
j 4 H
_|_®5Tief95 12
g 20 19, 4 |
Finbaumass ¢ il i, s
S 13 working posilion |4 g
21,3
3 i E R 16 -
; Jo | -
= [ W
s ol =5 T Il
-] =l rT— 1 «
- 3 =0 s =
= ™ _STHA
~ T Y~
l L HH
| e . 3
@5 Tiefe b 12
826 24

TEL:400-900-8812 2fT: 17316386953 www.jjx88.com

*
| :

Vert X 37E4 xxx Xxx 5xx
Vert X 37E4 xxx XxXx 7xx

B #(incl.)
1x B EXRF
2x T FE R L E IR 4 M5x12

THRMEZ) M #ERTHG
RARAFEH
SEREKER

Vert X 37E4 xxx Xxx 4xx
Vert X 37E4 xxx XXX 6xx

B2 (incl.)

1Ix BERXRF

2x W RE R L B R4 M5%x12
TEME(Z) M BEERTIG
BARTFHE

SEREER

CONIELEC

A company of the Siedle-Group

luck@jjx88.com



-

L

i.!;_

Vert X 37E1 xxX XXX 5xx
Vert X 37E1 xxX XXX 7Xx
B (incl.)
Finbaumass 7 vl Ix BEXF
, : — = - 2x # L 3 4 4 M5x12
W1 working position 16
M5 -t T B(Z) A RALIT AL
- 4 B K R VR
| R i BEREER
| —1h oo
a <CHT 5
i D] (]
o7 | 1 =4 =y
_
AolE e
He CHI v 1
= BURIN 1
. | |
= 4]
\ gh Tiefe 5 17 168
g 26 -
Vert X 37E1 xxx XXX 4xx
Vert X 37E1 xxx XXX 6xx
- B 4 (incl.)
. Einbaumass [ oxdz X BERTF
_;Sw 104 working position B 2 5 Al S L = 9 4 M5x 12
i 4 TEMEZ) M BTN
. P BRARAYEE
m? — - o3 SEZEER
b ~TH So
%jj o o CHIF i
, \ el | 2 s
| @ T 1 Ul
O\ Sl ACHE v Bl
- T4 ]
‘w’/ =1 [ H 1
i | ngi
| Yo T
#5 Tiefe 5 g2 10,2
826 24

A company of the Siedle-Group

TEL:400-900-8812 48T : 17316386953 www.jjx88.com luck@ijjx88.com



Einbaumass / tdz
working position g
1 6_"_“‘_
=M5 i NE
) “THH o
u—) OS; |7 1 ‘l II‘H “ Jl J
" = —
g R
<8 sHAS aka my wil ig
- AT o
™ 1H
" S‘r _el’- :_
. - 10,5
o | @5 Tiefe 5 T2 MEREN
. #25 19,4
Einbaumass ‘Z +dz _
3x M3 warking position B
—q— L. 6 = <=}
= |3
T T o HE =
o] 5
L[_) Dg. r 1 ‘\ H‘II ‘F k
" | | o0 m gL (\I“Lo
ST AT M= T el lsls
s | @ LJ‘E 1@‘ =2y il i
- P
™M JT 1
| =y nui
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

TEL:400-900-8812 2fT: 17316386953 www.jjx88.com

Vert X 37E2 xxx Xxx 5xx
Vert X 37E2 xxx XXX 7xx

B (incl.)
IxBEERT
2x T AE R L E B4 M5%x12

THUEZ) M @R AT
BRAAFHE
SEREER

Vert X 37E2 xxx xXxx 4xx
Vert X 37E2 xxx XXX 6xx
B4 (incl.)

1x BEXRF

2x TR B IR 4 M5x12

TAEMLE(Z) M BTN

BRAAFHE
SERERR

CONIELEC

A company of the Siedle-Group

luck@jjx88.com



Vert-X 37E4

TERER
ITHEMEZ)
% MH-C 3.85mm
—+I ' MH-C redundant 4.35mm
r~ |
A |
\ : REPERATHID I K S0 ¥ 430
; dx +0.25mm
dy +0.25mm
dz +0.5mm
/////
|
Vert-X 37E1
RERFE
TEMEZ)
MH-C 4.95mm
MH-C redundant 5.45mm

Z tdz
%
=

BT R K AL

dx +0.25mm
dy +0.25mm
dz +0.5mm

S
7
7

7

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4BL: 17316386953 www.jjx88.com luck@jjx88.com




) 50
N ! ol
i)
1 , ‘
= P £ (D]
i i ' ‘
. 4338
0] 1O = =
o
L Y 7 : T 4
- | |
61, 4 -

TEL:400-900-8812

48T : 17316386953 www.jjx88.com

Vert-X 37E2

REER
THELEZ)
MH-C 6.45mm
MH-C redundant 5.95mm
| RTINS K iR
- dx +0.25mm
| dy +0.25mm
dz +0.5mm
Vert X 37E

CONIELEC

A company of the Siedle-Group

luck@jjx88.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



